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GCSE Mathematics
Practice Tests: Set 1

Paper 2F (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

Use black ink or ball-point pen.
Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
s Calculators may be used.
Diagrams are NOT accurately drawn, unless otherwise indicated.
You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Adyvice

e Read each question carefully before you start to answer it
e Keep an eye on the time.

e Tryto answer every question.

o Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

Plewce Jabua.

Write down the value of the 9 in 213.95

(Total 1 mark)

Write these numbers in order of size. o MUQ Deamals

Start with the smallest number.
—

0.74 0.744 0.704 0.7 0.07

® oo
S pruy
@ o.¥4
@ o.1c0 OG0, A0, @ 304, S Sk,
CD © 0340 (Total 1 mark)
Simplify 3xgx5xh S(VJ\PU-%\V;& P(lﬂehmu;. ExpresSiond
= |S'~<ij\
= §gn e A RO
= (Total 1 mark)
Cedewdotes Spius
Work out 5.9 +3.172
VSE Youwl CALCULATEZ
1S, qu-£9.

(Total 1 mark)
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A petrol tank holds 48 litres of petrol when it is full.

RN
\Empty 2 FuI!/
B

The scale shows information about how much petrol there is in the petrol tank.

Work out the number of litres of petrol in the petrol tank.

L \dves = fuu

ek \ —
_ = L v =\2
locnW- = LC; 'PUJ:L L\'@-pf-g Le e (2. titres

(Total 2 marks)
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6. The tally chart shows information about the numbers of text messages sent by some students

last week.

Name of student Tally Frequency
Anna HE I M M 24
Bhavini I 12
Cassie Wt Mt Hit \S
David HE 11 9

(i) Complete the frequency column.

The pictogram shows the numbers of text messages sent by Anna and Cassie.

oI )
st | [ (] [ i
e[ L]

v | ) [l a

63%me5 = Wﬂﬂ“‘
| squenre = L fraguent

Key: D = L{- {;@.:t*s

(i) Complete the pictogram and the key.

(Total 5 marks)
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Michael writes down 4 different factors of 60

He adds the 4 factors together.
He gets a number greater than 20 but less than 35

What 4 factors could Michael have written down?

3

clars 10
Factar’s 20
'S

30

60| 60

~FE 05
e
5
b
£

(Total 3 marks)

Asif was asked to solve the equation 8x+1=5 S &\ U‘S EUU/\OJ’Y\‘C(\S‘

Here is his working.

(—) gx=4 v~
(+3) x=g X
2

Asif’s answer is wrong.
What mistake did he make?

He has Soud 2= §E; bud Hmis Snouwlal reod

T = = Sl ha has Aavidaal oy & -

(Total 1 mark)
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9.  On Ist June, Brian has £312 in his bank account.
On 5th June he puts £120 into his bank account.
On 10th June he puts £25 into his bank account.
This is how much Brian spends from his bank account from 1st June to 15th June.

Supermarket £42.40

Mobile phone bill £21.05
Grocery shop £24.30
Electricity bill £64.20

Online book purchase £18.32
Council tax £144.50

Clothes £84.20

Supermarket £51.35

On 16th June, Brian wants to know how much money there is in his bank account.

Work out how much money there is in his bank account.

Total & bonl | ER\2+E£RO+ 25 = LusF

Money Spenct Luw2.wo+ £ 08+ i%.zo#ieu.zwff{g.zzi—ftuu&f:;%t;z;

USE “Youlk CALCATOE =240 . 2L
meney Lt ZL4SF - 2SO -3 = E6 68
£ 68 o
(Total 4 marks)

Practice test paper 2F (Set 1): Version 1.0 6



N@m Nube,/s

10. Jim says,
“When you subtract a number from 10, the answer will always be less than 107

(a) Is Jim correct?
You must give a reason with you answer.

Mwhp\@s of 2

“When you halve a whole number that ends in 4, you always get a number

that ends in 2”

Lucy says,

(b) Write down an example to show that Lucy is wrong.

s A= . TS IS N e

........................................ Aol W

(Total 2 marks)

11. Write down the name of each of these two 3-D shapes.

(i)

(1) /
d \— T F N

(Total 2 marks)

Practice test paper 2F (Set 1): Version 1.0

20 Qe Preperties



12.

(509 Fornula

George and Harry work in a factory.
They use this rule to calculate their total pay in pounds.
Total pay = 8 x number of hours worked + bonus

George worked 30 hours.
He was paid a bonus of £20

(a) Work out George’s total pay.

Totalpey | = % w13 O+0

=420 ze0 ...

(2)
Harry worked 34 hours.
His total pay was £300

(b) Work out the bonus that Harry was paid.

'Tompa_:g Toted pay= g X Numper O—P howsS 4+ Raonus
£300 = @xfa +Bonus
Lo = £212 e
nJS
(-£272) {feB<gp

(Total for Question 12 is 5 marks)
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Percenteges

13. Trina collects eggs from her hens.
She labels their eggs small or medium or large.
20% of the eggs she collected in May were small.
24% of the eggs she collected in May were large.
(a) What percentage of the eggs she collected in May were medium?
“Total Yo = 1c0%a | 1006 = 20°/ —24°%/o = 567,
S
.............. 525
2
(b) Express 24% as a fraction.
Give your fraction in its simplest form.
-~
O/J = ouwt CJF’ 1oo”’ 2"?‘0/0 == _____,7-"-1’ USE Your CALLUATOZ
OO \J
: - | — __,§.__-
Semeliy ) 7S £
RN - SO
@
Tina collected 75 eggs in May.
(¢) Work out 20% of 75.
0% = 7€
=iy | 10% = F<0O
(xz) | 20% = (5.C0 |5

(2)

(Total 6 marks)
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14. John cleans carpets of different areas.
He uses this graph to work out the cost of cleaning a carpet.

F
200 - 4
150
Cost =
b
@ 100 ’
50
i {.4"" i !
o 0 2{] T 0 40 00
Area (m)

A carpet has an area of 30 m?.

(a) Use the graph to find the cost of cleaning this carpet.

Tt costs £150 to clean another carpet.

(b) Use the graph to find the area of this carpet.

............................... m
1)
A rectangular carpet has a length of 8.6 m.
Tt has a width of 5 m.
(c) Work out the cost of cleaning this carpet.
< (xwd emXS = U2 >
i b = Nl L
- @)
LSE THEGMAM: W | = Z(80 (Total 5 marks)
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Suha walked 7 km from her home.

She then had a rest.
Suha then walked home.

Here is Suha’s travel graph.

F 3
8 —
7
6
5
Distance
from home 4
(km)

(93]

ta

0 —>
2 pm 3 pm 4 pm 5 pm 6 pm 7 pm

Time of day

(a) What time did Suha leave home?

1)
(b) How long did Suha rest for?
[2eAween Yemond Spemr | howr
1)
(c) What time did Suha start to walk home?
1)
(d) Work out the total time that Suha was away from home.
2 :.30@1 W‘im }pm,
Oifferene = Lihows 2Omus b o
................................ ... hours
= 4. Slows )

(Total 4 marks)
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16. Priyesh has 12 square paving stones.
He will use all the stones to make a patio that is a rectangle.

(a) Draw a diagram to show how Priyesh can use these stones to make a patio that is a

rectangle. 3)(‘_]. of £xz o (2x| \: - ‘ -. ’ o
B I IO N
[

The diagram shows a pond with a path around it.

5m
(b) (i) Work out the perimeter of the pond.

Posineder = lamrSm+lmtSm | Peiwaler= 2nt 20t 2mt 2m

= (1 Op
= |fm =

WEMNG X
7‘/\)‘51‘5‘“@_ PGUHA .............................................................. m

(i1) Work out the area of the path.

CounT THE lem @uaees = (4 a1

(Total 5 marks)
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17. A machine makes 36 trophies every hour.

The machine makes trophies for 81 hours each day, on 5 days of the week.

The trophies are packed into boxes.
Each box holds 8 trophies.

How many boxes are needed for all the trophies made each week?
g . . ; i - 7
lrophieS perdowy - 1 X 26 = 06
‘[«cs,ovu\eA P weell 2H6 x 8 = 1S3

Roves Neadoo 1530~ 8 = Q\cij,ZS
g /1530

20 o Ora s & ¥ ‘4‘-3\‘3\’5%%-—-

US T HAooR e VeiTend_

r—————

CeoncluoSee - -192. boxes o V\QQd\QQ& .

{Total 4 marks)
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Sumef Probabolities

18. Here is a four-sided spinner.
The spinner is biased.

The table shows the probabilities that the spinner will land on 1 or on 3

Number 1 2 3 4

Probability 0.2 < 0.1 €I

The probability that the spinner will land on 2 is the same as the probability that the spinner
will land on 4

(a) Work out the probability that the spinner will land on 4

Sum o prekoboiliy =1 | 0.2+ x +oi+x = |
Ceteckt .3+ 21 —
€0.3) 2 = 0.3
(+2) > e

Shunya is going to spin the spinner 200 times. Qe[ah\jg WC&’)

(b) Work out an estimate for the number of times the spinner will land on 3

P(lord or D) = -\ | 2c0% ©- |
- 20

(Total 5 marks)
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Answer ALL questions.
© Write your answers in the spaces provided.
You must write down all the stages in your working.
Eric travels from the UK to India every year.

In 2010, the exchange rate was £1 = 67.1 rupees.
In 2012, the exchange rate was £1 = 82.5 rupees.

In 2010 Eric changed £600 into rupecs.

How many pounds (£) did Eric have to change to rupees in 2012 to get the same number
of rupees as he did in 20107

&G ' 4l 6F |-
(xe20) | EeoO' LO26O ¢
> f[ : ‘K’),- sr
SRR \ T ey LO2603F2 §= U3
R N o , ‘ N
(,L.ﬁ!‘i_r ‘é‘-{-&& : L O200

(Total 3 marks)
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AB=06cm.
AC=9cm.

%
r T S
b)) Gem ’

ABC is a right-angled friangle.

Work out the length of 5C.
Give your answer correct to 3 significant figures.

Pj 'ﬂ\aga/i‘;«_)

Vs

ot + ic;&::

(&)=

26 %l

e =

'S
C

_)'-—
=C.

e
| S

= C

:C,J'

(Total 3 marks)
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4. The scatter graph shows some information about 10 cars.
It shows the time, in seconds, it takes each car to go from 0 mph to 60 mph.
For each car, it also shows the maximum speed, in mph.

150

140
Maximum
specd (mph)

130

20 |-

1a |

Wi ‘1[1 S 1_ 1\ s

Time (seeonds) o go from O mph to 60 mph

(@) What type of correlation does this scatter graph show?

The time a car takes to go from 0 mph to 60 mph is 11 seconds.

(b) Estimate the maximum speed for this car.

VSE Tre CRA&CH

(Total 3 marks)
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2. Aliis planning a party.

He wants to buy some cakes and some sausage rolls.
The cakes are sold in boxes.
There are 12 cakes in each box.

. Each box of cakes costs £2.50.
The sausage rolls are sold in packs.
There are 8 sausage rolls in each pack.
Each pack of sausage rolls costs £1.20.
Ali wants to buy more than 60 cakes and more than 60 sausage rolls.
I1e wants to buy exactly the same number of cakes as sausage rolls.
What is the least amount of money Ali will have to pay?

MASE 1aa) Sairte, ¢ % (L 2% 2L wo «$ 56 64 IFL
Qnand™ Qaster non O 2. (L e 36 «B 6O F2
[ CAA
L = 2
T2 cavesS oSy F2=12= & Pc;u:;LLS

L% g.50 = £

72 sau ;goﬁe_s cast F2 - = A pack s
LY
A xE120= +10 . 8O

753”&3-‘ cost S 4 2 10.-80 = "??':'—LS - G

(Total 5 marks)
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23. The n th term of a sequence is n* + 4
Alex says
“The n th term of the sequence is always a prime number when 7 is an odd number.”
Alex is wrong.
Give an example to show that Alex is wrong.
Ty A=t (Y4 =5/
n=2.4 (’L)l +4 = § X

71

Buk n muSt beodd!
P (3)7-.*.4 = [2\/ Pf'UVU?,
s 1 (S)L,\_q, = 2% anﬂ—

nN=45%": P \Na\
=0 * (Q)z "'—L" = S.S:%_Y NOT-(T‘:tIalZn;arks)

24. Solve *+x+2y=3 (D S ukancous WHU\S
rey=s @ S Tace Oppoote Res
O-@ i “g{;"j"’?)ﬂ
(3 | =~

Put n : x+2j -3

x—l—’l(—-l) >
x -2 =
(+2) x =

(Total 3 marks)
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25. Colin, Dave and Emma share some money.

Colin gets L] of the money. -
10 e!
Emma and Dave share the rest of the money in the ratio 3 : 2.

What is Dave’s share of the money?

Total = 100"/ C,Q\,U\ = %T‘-S@O/o

L OO0 20°)s = TOo Ho SN
Zparts +2pots =5 POrES

Sports = Y0°/o

(+5) | part = 1%

NDowe = 2 parts _2 F\M"CS = 29 c:/@
(x2) R

(Total 4 marks)

TOTAL FOR PAPER IS 80 MARKS
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